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Instructions to the Candidates l

Read the following instruction carefully
before you answer the questions. Answers
are to be marked on a SEPARATE O.M.R.
SHEET.

1.  Please write your District Code No.
and Roll No. very clearly (only one
digit in one block) as given on your
admission card and even zeros
appearing in the Centre Code No.
and Roll No. should be correctly
written in the appropriate blocks on

O.M.R. Sheet.
Example:
* Year District Code Roll No.
1]5] [3]1] [o[1]2]4
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This test has two parts. Part | as wgll
as part Il consist of 90 questions In
each.

Each question carries one mark.

Since the time allotted to the two parts
of this question-paper is very limited,
you should make the best use of it by
not spending too much time on any
question.

Extra page has been provided for
rough work at the end of question

paper.

Do not mark more than one answer of
any question on OMR sheet
otherwise answer will be cancelled.

Avoid cutting/over writing/use of fluid
etc. on OMR Sheet.

Attempt each question, there is no
negative marking in this test.

2. AETHET HEN HY | gy

weA g | g

3. mmmwmm

s. O TH WE-UA. B S a3
ﬁmﬁhm!ﬂﬁﬁtm@m

sftrwaR FguaeT B sy iy
W9 U WEA HHI o TR |

s.  Weel gRE® B 3a # (Rough) vw o
3 fore sfaRea g Raramny

6. SNUAIR. Mewfsh fuwmam
A 3 Iow A 71 B T W
= @ oneen |

7. MEAIR. e w shesiw
B / TEE TR F UL AD |

8. nﬂammuﬁm,ﬂﬂ'ﬁﬂ"ﬂ
B ABRTHS DA TE & |

__-——'-"-—-—--‘

Note:Do not write anything except the

Roll Number and rough work
anywhere in the booklet.
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PART-l

MENTAL ABILITY TEST

difgs araar T

Questions: 1 to 90

Directions : (Q.1to 8)

In these questions, a series is given with
one term missing. Choose the correct
alternative from the given ones that will
complete the series.

Q1 1,7,9,16,25
(1) 1
@ 2
(3 3
(4) 4

Q2 12,16,20,24,28,7.
(1) 30
(2) 32
3) 34
@4) 36

Q3 5,7,11,13,17,19,7.
(1) 23
(2) 21
(3) 29
(4) 27

fordar (w13 8)

%o wedl A v I t g & s ve ue
@ ¥ | R a1v Resedt 3 J 78 Reew g
S ABIE B YR BT B |
w1 1,7,9,16,25

Mmn 1

2 2

3) 3

(4) 4

w2 12,16, 20, 24, 28, ?.
(1) 30
2) 32
(3) 34
4) 36
w3 5,7 11,13,17,19, 7.
(1) 23
2) 21
@) 29
4) 27
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Q4

Q.5

Q.6

Q.7

Qs

D4, G7, J10, M2,?
(1) 13P

(2) 130

3) 120

4) 12P
CEGIK? 2.

(1) NP

(2) MO

(3) MN

(4) NO

ES, FR, GQ, HP, 10, 77
(1) KM

(2) KL

(3) NJ

(4) JN
SUMANNAM??
(1) ON

(2) US

(3) NO

(4) SU

E125, D64, C27, B8, A?

(1) 4
(2) 2
@ 1
4 0

Directions : (Q. 9 to 15)

Each Letter of the alphabet fromAto Z
has been given a value from 1 to 26,

Serially Solve the Question basis
of value of words. onse

ﬂ.‘ D‘: GT! Jiu' u?'
(1) 13P
(2) 130
(3) 120
(4) 12P

u.5 CEGIK? ?.
(1) NP
(2) MO
(3) MN
(4) NO
u.6 ES, FR, GQ, HP, 10, 77
(1) KM
(2) KL
(3) NJ
(4) JN
9.7 SUMANNAM??
(1) ON
(2) US
(3) NO
(4) SU
U.8 E125, D64, C27, B8, A?

(1 4
2) 2
Q) 1
4) 0

Pdu (u. 9 A 15)

AR Z 7 B ofaren @ yedre H B AP
wan: 13 26 ae Ry wven 3| ot 37
3 smar 9z ReefRa g sa 23 |
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(1) AVES

(2) FINE

(3) NEAR

(4) DOOR _
Q.11 Which Words have the equivalent

Value ?

(1) BEER ROSE

(2) NEAR - HEAD

(3) AIDS - MEAN

(4) FINE - AVES
0-12Whi¢ﬁ5qmﬁ0niscorrect?

(1) D+ =M

(2) L+A=N

(3) T+P=S

(4) H+V=K
Q13CcXI-G=7

(1) E

()

(3)

4)

—'zi

w13 CXI-G=7

(1) E
(2) W
(3) N
4 T
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Q.14 Which Word is equivalent to w.14 55 e =1 A 10027

1007 |
(1) Reading (1) Rej'aldlng
(2)  Writing (2) WF.Itln‘g

(3)  Thinking (3) Thinking

(4) Paper+ Pen
(4) Paper + Pen

Q.15 What will come at the place of '?' w15 7 forew @ v oz HTE=

Fl1 | o Fi1 1o
Ao Tx AlJ | K
Elwm 5 E(M|?
(1 P ke
2 R 2) R
@) s (3) S.
@) v | @ v
Q.16 Which one of the following words | .16 fersiferiera 3 A Pver-am o
:?(I:It;t:::ya; third place in the =Y A AR T2 uT anoen 7
(1) Leaf (1) Leaf
(2) Loan (2) Loan
(3) Live (3) Live
(4) Left (4) Left I
Directions : (Q. 17 to 20) Frder (w. 17 & 20)

A series of letters are given which follow | 37413t 2% v sjzren & orE &, o v el
a certain pattern. However some letters

are missing from the series. You have to FAARL gsmm{amagm?lm“
find out the right set of letters from | U%® W&l JoE ¥ Ry oo Rraseut 7 A Bk,

alternatives that can be inserted into the oo Remr it At gff Ao = |

blanks of the series.

Q.17 abcd_abb_ _ dd_aab_b W.17 abcd_abb__dd_aab_b .:
(1) abcda |

(1) abcda i
(2) abdac (20 abdac |
(3) badac (3) badac !
(4) accab (4) accab i
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Q.18 abba_ddcab_ _cdd_a_ba
(1) adcba
(2) acdab
(3) cbachb
(4) bcach

Q.19 nm_mmn_ _ nm_mnn_m

(1) mnnmn
(2) nmnnn
(3) mmnnm
(4 nnnmm

Q.20 mnommn_ _mm_om_ _m
(1) nomno
(2) omnmm
(3) mnoom
(4) nmmnn

Directions : (Q. 21 to 28)

In each of the following figures,
numbers are written according to some
patterns and one number is missing,
shown by '?' Find the missing number
that replaces the question mark (?)

Q.21
(1) 60
N
(2) @3 8 |512
3) 64 27]216
?
@) 72

W.18 abba_ddcab_ _cdd_a_ba
(1) adcbha

(2) acdab
(3) cbach
(4) bcach

W.19 nm_mmn__ nm_mnn_m

(1) mnnmn
(2) nmnnn
(3) mmnnm
(4) nnnmm

¥.20 mnommn__mm_om__m

(1) nomno
(2) omnmm
(3) mnoom
4 nmmnn

frder (w. 21 & 28)

#2 & =1f v gl & ve ffdaa ww
IR TV HHATT fereht 7E R | g A v
wE g 2, O 7' Rres & qufen s 3
@ H I A N 7" Rew B @e w
gl

w.21
(1) 60 |
2) 63 125
8 [512
(3) 64 27(216
b
@) 72 ‘
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Q.22 " 100
100 11 (121
11 [121 12 [144
12 [144 2
?

(1) 10 (1) 10

2) 13 (2) 13

(3) 17 3 17

4) 19 ” (4) 19
.

Q23 ;
218 2|8
3|27 31|27
? ?

(1) 0 (1) 0
(2) 1 2 1
(3) 4 (3) 4
4) 9 4) 9

Q.24
72 w.24 72
918 9|8
7[6 706
? ?

(1) 40 (1) 40
(2) 42 (2) 42
(3) 49 (3) 49
(4) 36 4) 36

Q.25 .25
72|62 | 52 72|62 | 52
3034 |75 30|34 |75
102| ? |127 102| ? |127

(1) 109 (1) 109
(2) 96 (2) 96
(3) 90 (3) 90
4) 82 (4) 82
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Q.26 .26
0 18 16 22 32 50 0 18 16 22 32 50
(1) 110 1) 110
(2) 54 (2) 54
(3) 62 (3) 62
(4) 84 (4) 84
Q.27 1 - 1
2@10 8@2 2@3 2@10 ‘3@2 2@3
15 8 12 15 8 12
() s (1) 5
(@) 12 2) 12
@) 15 @) 15
@) 20 @ 20
Q.28
C DG H K L | %28 5 H K )
VAV RVAVAVY
E : o E | M
a 1) J
@ K 2) K
@ L @) L
@ N @) N
i —————————————————

Scanned by CamScanner



Directions : (Q. 29 to 30)

Study the faces of dice given below then
answer the questions that follow ?

Q.29 Which letter will be opposite to
G?

(1) D
(2) K .
) L
4) C
Q.30. Which Letter will be opposite to L?
(1 D
(2) C
3) G
4) K

Q.31. How many squares are in the given
figure ?

(1) 55
(2) 38
(3) 25
(4) 30

frder (w. 29 ¥ 30)

U B YD ISH BT FATA T iy
Ry g neAt BITRE ? s

w29 I W G B fAavda g

(1)
(2)
3)
4 C

.30 I 91 39 L RAgda am?
(1) D
2) C
3) G
@) K

w.31 i e Rt o s a2 ?

r X 0O

(1) 55
(2) 38
(3) 25
(4) 30
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Direction (Q 32to 37)

Which of the alternative will come in
place of questionmark ?

Q.32 AFKP:ZUPK::BGLQ:?
(1) yuam
(2) XURO
(3) YTOJ
4) YXWV
Q.33 FILM:ADGH::MILK:?

(1) ADGF
(2) HDGE
(3) HDGF
4) HEGF
Q.34 REASON:SFBTPO::THINK:?
(1) SHHMJ
2) UJKPM
(3) UlJOL
4) UHINK

Q.35 AZBY:CXDW::EVFU:?

(1) GTHS
20 GSTH
3) GHTS

4) TGSH
Q.36 9:72::12:?

(1) 84
(2) 69
(3) 105
4) 76

fordwr (w32 R 37 7))
fee g Rresedt # A S = Rreeg weeame
forger @ wamer w2 s

W.32 AFKP:ZUPK::BGLQ:?

(1) Yyuam
(2) XURO
3) YTOJ
4) YXWV
.33 FILM : ADGH::MILK:?

(1) ADGF
(2) HDGE
(3) HDGF
(4) HEGF

.34 REASON:SFBTPO::THINK:?
(1) SHHMJ
(2) UJKPM
3) ulJoL
4) UHINK

w.35 AZBY:CXDW::EVFU:?

(1) GTHS
(20 GSTH
3) GHTS
(4) TGSH

W.36 9:72::12:7
(1) 84

(2) 69

(3) 105
4) 76
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%

Q.37 49:16::169:7
(1) 86

(2) 94
(3) 96
(4) 100

Directions (Q.38 to 40)

A series of alphabets is given. find the
missing letter from the given response.

Q.38 A,D,HM,?,Z
(1) B
(2) G
3) S

g4 N
qx DFI, KMP, ?, YAD

(1) QSV
(2) RTW

63] SUX

4 RTV

Q.40 ABC,FGH,LMN, ?
(M ki
) OPQ
3) RST
(4) STU

w.37 49:16::169:7
(1) 86

(2) 94
(3) 96
(4) 100

Ry (W1 38 A 40T )

srdeht avfaren 2 v aoft & g ¥ 1 Rew
FRAATA IR AT |

w.38 AD,HM,?,Z

(1)
(2)
(3)
(4)

B .
G
S

N

¥.39 DFI, KMP, 7, YAD
(1) QSsSvVv
(2) RTW
3) SUX
(4) RTV

.40 BC, FGH, LMN, ?

(1)
()
(3)
(4)

IJK

oOPQ
RST
STU .
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Directions (Q.41 to 44)

In each of the following questions the
first two words have a common
relationship. Choose one word out of the
given four alternatives, which will
replace the question mark, having same
relationship with the third, as given pair
has:

Q.41 Good:Bad::Roof:?
(1) Wall
(2) Pillars
(3) Floor
(4) Window
Q.42 Girl:Beautiful::Boy:?

(1) Attractive
(2) Handsome
(3) Tall

(4) Bodybuilder

Q.43Thermometer:Temperature:
Hydrometer:?

(1) Pressure
(2) Density
(3) Stress
(4) Humidity
Date:Calendar::Time:?
(1)
(2)
3)
(4)

Map
Year
Watch

Hour

Ry (msr 41 A4 7)

rewterire uae uva # uza & oz st
et oz A vw g & weafim 1 Re wwe
R Reedt d A v W o= @ W
weTaTes ige @ e uT an wea ¥ A
d o J 7 T Tewew B 1 oM BN
wor RoE:-

w.41 STeSqRT B 7
(1) %R
(2) IR
(3) wef (a=)
4) Fot
W42 velt-geee: e 7

(1) s

(2) qEEEa
(3) =
(4) dhl-fyese

W.43 aATgATHAny: E e AT 7
(1) ==
(2) us

(3) zam
(4) smter (wreft)

v44 Res:gaen:Eag:?

{1) C 48
() wd
3) @

() =

e — — —

13
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Directions : (.45t 50)
Q.45 Choose odd one out?

(1) Plant

(2) Root

(3) Stem

(4) Leaf
Q.46 (1) March

(2) May

(3) February

(4) December

Q. 47 (1) Dear
(2) Fox
(3) Horse
(4) Jackal

Q48 (1) Wood
(2) Cork
(3) Stone
(4) Paper

Q49 (1) Liver
(2) Lungs
(3) Kidney
(4) Ear

Q.50 (1) Teacher
(2) Principal
(3) Lecturer
(4) Student

14

w.46

w47

w.48

w49

.50

T
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Q.51 [fthe word ‘STOVE’ can be writen
as '‘FNBLK' then how can the word
'wOTES' be written inthatcode?

(1) LBNKF
(2) LKNBF
3) LNBKF
@) FLKBN

Q.52 If the word ‘CHENNALI' is coded as
‘DIFOOBJ’ then how the word
‘BANGLORE' would be coded?

(1) CBMHJPSE
) CBOHMPSE
(3) CBNHJNQD
4 ABMFJMSF

Q.53 If DELHI is coded as 20349, then
how can LEH be coded?

(1) 304
(2) 403
(3) 430
(4) 034
Direction: (Q.54 to 56)
If ‘POSTER' is coded as 234678

and NORM is coded as 1385
then how the following words

be coded?
Q.54 MORE
(1) 5837
(2) 3587
(3) 5387
(4) 5738

w51 df¥ STOVE =& =1 FNBLK foren

s @t VOTES 3t g2t 218 # fewy v
RremonE®aT & |

(1) LBNKF

2) LKNBF

3) LNBKF

(4 FLKBN

w.52 aft ‘CHENNAI' & =1 ‘DIFOOBJ’
feren e & @ ‘BANGLORE’ o w=h
imﬂﬁﬁmmnﬁmmmaumtl

(1) CBMHJPSE
2 CBOHMPSE
(3) CBNHJNQD
4 ABMFJMSF
w53 ufX ‘DELHI o1& o1 315 203498 A
LEH &1 &S sy uase A T ?
(1) 304
(2) 403
(3) 430
(4) 034
fide (w.54 A 56 a®)

af ‘POSTER’ # ¢ e
234678 % 3T ‘NORM’ &t 3¢
ITeT 1385 3 | aw Rrewferima
ol 9t g ame B Aeft 2

w.54 MORE

(1) 5837
(2) 3587
(3) 5387
(4) 5738
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Q.55 STOPS
(1) 43624
(2) 46324
(3) 43264
(4) - 46234
Q.56 ROSTER
(1) 843678
(2) 843768
(3) 834678
(4) 873468

Q.57 Ais D’'s brother D is B’s father B
and C are sisters. How is A related

to‘C'.
(1) Niece
(2) Grandson
(3) Father
- (4) Uncle

Q.58 Pointing to Seema, Abhishek
said, her mother’s only daughter
is my mother. How is Abhishek

related to Seema ?
(1) Brother

(2) Son

(3) Nephew
(4) Cousin

Directions : (Q.59 to 60)

| am standing in the middle of a park. |
am facing East. Suresh is facing South-
West while Mukesh is facign North-West
and Jharender is facing North-East.
Now each one of us tumns through an
angle of 90°in the clock wise direction.

Q.59 In which direction am | facing

now?
(1) South-East
(2) South
(3) South-West
(4) West

STOPS
e (1) 43624
(2) - 46324
(3) 43264
4) 46234
u.56 ROSTER
(1) 843678
(2) 843768 -
(3)- 834678 _ - :
4) 873468

w57 AD=maER lnﬂramhm‘tu
sCcusad? | ASTC AR Temen
k.14

(1)  wdish
(2 d=
(3) foen

(4) ey a1 A%

R g e——

TC T IIH A B g ¥
AR A ¥ | afins e w1 e
v Raer |
(1)
2) ¥
(3) o
4) 7N g
Prdn (v. 59 A 60)
# v w B 3 A A rd
3“;’ q&uw:::r?;im g; o
JTe- 0 | o
I - {&i%lmﬁﬁuﬁuwﬁaﬁﬂﬂ
(1) zihw-:;& .
(2) aRor - . -
(3) zRvor-ufdesw. -
(4) ol | i oiwee o
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Q.60 Which direction is Mukesh
facing?

(1)
(2)

North
North-East
(3) East

(4) South-East

Directions : (Q.61 to 62)

After going 5 km towords east from my
house, | turned to left and went 3km.
Again |turned to left and went 3 km. At
the end | turned left and went 3km.

Q.61 Howforlam from my house?

(1) 14km (2) 8km
(3) 11km (4) 2km
Q.62 What is the direction of this place
now from my house ?

(1) East (2) South
(3) North-East (4) West
Q.63 Iflam eleventh inaqueue starting

either end, how many persons
are there in the queue ?

(1) "
(2) 20
(3) 21
(4) 22

Q.64 AB,C,D and E are sitting on a
bench.Ais sittingwithB,CandD
who are sitting with each other.
But D is not sitting with E because
E is on the left corner of the bench.
C's place is second from the right
and A is right to B and E but A is
sitting with C, then find the
positionof A?

(1) BetweenBandD
(2) Between B and C
(3) Between E and D
(4) Between Cand E

w60 FHBuwH HeewRmAR

(1) IR

(2) Ime-qd

3)

(4) aRyor-gd
frder (w. 61362)
# v W A sfeto Fa &t ik aeew
39+ AU HE I AR 3 Reelto e | e
9=t &Y 73 T SR e 3 fsefio wam |
e # H A0 Hee 3 fsho wem)
w61 FHmamA ez ?

(1) 14%sefto (2) 8fsho

(3) 1 fafto (4) 2 Resfio

v.62 ;&:wmaﬁﬁ%wﬁmﬁm
(1) = (2) gfdqor
(3) IR-gd (4) ufe=
W63 UHETEA A A st o A A v
@ 9 ) Fansht ade # e
AT E ?
(1 1"
(2) 20
(3) 21
(4) 22
US ¥ W ABCD, 3R E®R T
BCARDI ma AR}, ot vop
WA A3E | uveg D,E B wrey ad e
s adaeRRwERICE
WHAIWAGFTREIBIAREFA
IR, WP ACTAIXTZI AT
Rafywefwd 2

(1) BiRD3 &+
(2) BIRCI A
(3) EdRD3dm
(4) C AREFd=

[, ———————

17
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Q.65 A is taller than E and B is taller
than D.Fis tallerthanC.Dis tallu_?.r
than Aand E is tallerthan F. Who is

the tallest ?
(1) A
(2) B
(3) D
(4) F

I_Jirections : (Q. 66 to 71)

Aword given in capital letters is followed
by four answer words. Out of these only
one cannot be formed by using the given
words. Find out that word.

Q.66 CHEMOTHERAPY

(1)
(2)

MOTHER
THERAPY
(3)  PANTHER
(4)  REMOTE
Q.67 ADMINISTRATION
(1) MIND
(2)  RATION
(3)  MINISTER
(4)  STATION
AUTOGRAPHS
(1)  GRAPH
(2)  TROUGH
(3)  PATHOS
(4)  GREAT

Q.68

w65 AE @ @ ? 3R BD A wwry
FCATE | AP geea 3 D ooy
AR FATFER | T awnr gy
27
(1) A
(2) B
(3) D
(4) F

forder (w. 66 & 71)

3ot quiATen @ @8 quit F U e Rend
IR IR IR -9 e TR | maw &
A A A Re v s B avif &
TR AR | 3 I B FA B 7

W.66 CHEMOTHERAPY

(1) MOTHER

(2) THERAPY
(3) PANTHER
(4) REMOTE
ADMINISTRATION
(1) MIND

(2) RATION

~(3) MINISTER
(4) STATION

AUTOGRAPHS

(1)
(2)
3)
(4)

u.67

.68

GRAPH
TROUGH
PATHOS
GREAT

w

18
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Q.69 NECESSARY

(1)  NICE
(2)  ESSAY
(3)  EASY
(4)  RACE
Q.70 INTELLIGENCE
(1)  NEGLECT
(2)  GENTLE
(3)  TINGLE
(4)  TILLAGE
Q.71 ORIENTATION
(1)  NATION
(2)  TENSION
3)  NOTION
(4)  ORIENT

Directions : (Q. 72 to 74)

Arrange the following words as in
dictionary.

Q.72 A. Flora, B. Fauna, C. Fiance, D.
Fervour, E. Freight, F. Flight

(1)  BAFCDE
(2) ADCFBE
(3) BDCFAE
4) BDCAEF

Q73 A. eagle, B.earth, C. eager,
D.early, E.each

(1) BADCE
(2) AEBDC
(3) BCEDA
(4) ECADB

W.69 NECESSARY

(1) NICE

(2) ESSAY
(3) EASY

(4) RACE
INTELLIGENCE
(1) NEGLECT
(2) GENTLE
(3) TINGLE
(4) TILLAGE

w.71 ORIENTATION
(1) NATION
(2) TENSION
(3) NOTION
(4) ORIENT

w.70

Rrdar (0. 72 & 74)

Rrastarfr wesit 3% oret Bt o1 B sregTe
BAATHA -
W.72  A.Flora, B. Fauna, C. Fiance, D.
Fervour, E. Freight, F. Flight

(1) BAFCDE

(2) ADCFBE

(3) BDCFAE

(4) BDCAEF

U.73 A. eagle, B.earth, C. eager,
D.early, E. each

(1) BADCE
(2) AEBDC
(3) BCEDA
(4) ECADB

R T — .
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Q74 A. Live, B. Litter, C. Little, D.
Literary, E. Living

(1) DCEBA

(2) DBCAE

(3) CDBAE

(4) CBDEA

Q.75 IfDecember7 is Wednesday then

what was the day on December 28
ofthesameyear?
(1) Monday

(2) Wednesday

(3) Thursday

(4) Friday

Q.76 At 4 O'Clock what angle will be

formed between the hour and

minute hand of awatch.
(1) 90°

(2) 125°

(3) 120°

(4) 115°

Q.77 How many times the hour hand
and the minute hand will form a

straight line between 8A.M. to

8P.M. ?
(1 12
(2 10
@ 8
4 1"

u.74

w.75

.76

w77

A. Live, B. Litter, C. Little, D,
Literary, E. Living

(1) DCEBA

(2) DBCAE

(3) CDBAE

(4) CBDEA

aft 7 Rusaw = ggar ? ax 23
Rarr @ sflad A= Rerar?

(1) Far
(2) gmaR
(3) ¥R
(4) ygmwar

& a2 7o TU2 oA gE I Prere
# ¢ > o 3% Rt sim
YT F#W 7

(1)
(2)

90°
125°
(3) 120°
(4) 115°
8A.M 31 8P.M B 7ex et SR T

B gdai feosht ar v et anda
TN ?

(1) 12
) 10
(3) 8
@ 11
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Q.78 If'+'means ' ,'-'means'x ' '+’
means ' ~ ' and'x'means '+
then what will be the correct value

of the following equation.
14+4-2x4-3="7

(1) 19

(2) 14

(3) 10

4 9

Q.79 How many numabers from 1 to
100 are there each of which is not

only exactly divisible by 4 but

alsohas 4 as adigit?
(1) 7

(2) 10

(3) 20

4 21

Choose from the alternatives the
boxes that can be formed when
figure (x) is folded.

Q.80

'

w78 AR+ W T X,
ﬂ‘_,m‘x'ﬁ'."’mmﬁ
frefeifa weftaro &t d Hwn

T ara Fef 2
14+4-2x4-3= 7
(1) 19
(2) 14
(3) 10
4) 9

W.79 v A At o v Rasit wsae F o
R A R g arer ) ol B IR I

U i AR o ft s A ?

M 7

2) 10
3) 20
4) 21

w.80 o R (x) B Aier o @ @ Re e
Rreet 3% gt R ter e (faa)
AT HSATR -

TR

1 2 3 4

21
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Directions : (Q.81to 86)

In the following questions, answers are
to be based on the diagram given below,
where the triangle represents doctors,
the circle represents players and the
rectangle represents the artists.

Sy

Q.81 Which number in the diagram

represents doctors who are also players
and artists ?

(1) 2
(2) 3
(3) 4
4) 5§

"~ Q.82 Which number in the diagram
represents artists who are players ?

(1) 6
2 7
3) 8
(4) 4

Q.83 Which number in the diagram
represents artists who are neither
players nor doctors ?

(M 1
(2) 2
@ 3
4) 4

forder (w. 81 & 86)

fremferf¥ra wesit # 3 3o Re e R
smenfa & oY Braper srer @t walifa e
¥, ga Rrenfdt =t 3R e TRt =
weRfazsea? |

8N

(™

’/
S

w81 R & ¥f& 31 7w 0A et 3
weRfa wear ¥ ot Rremdt 3w wemer of
w7

(1) 2
2) 3
3) 4
4) 5
.82 s & @var @1 3t O war@R B
weRfa wvar ? ot Rremft ¥ 7

(1) 6

) 7

(3) 8

(4) 4
w83 R & -1 3w waTER B
Tiasatsha e 2 sl o &
Rif¥sems 2

(1) 1

(2) 2

(3) 3

(4) 4

22
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Q.84 Which number represents
doctors, who are neither players nor
artists ?

(1 2
(2) 4
3) 3
4) 5

Q.85 Which number represents
players who are neither artists nor
doctors ?

(1) 1,2
(2) 34
(3) 6,7
4) 7.8

Q.86 Which number represents
doctors who are players but not artists 7

(1) 5
(2) 4
(3 3
4) 2

Directions : (Q. 87 to90)

Select the related figure from the given
answer figures.

Q.87 QuestionFigures:
M (W] L?
Answer Figures

= E i

1 2 3 4

rapreEisipE

Answer Figures

(6| A |

1 2 3 4

w84 P W 3w UA T B Waiia

weal & ot o Feremdt & 3l o & serer 2

(1) 2

(2) 4

(3) 3

(4) 5
w85 o I 3w Feenidar @ el
AT X O 7 & TR § 3R 7 Rfvcs®
37 1) 1,2

(2) 3.4

(3) 6,7

4) 7,8
W.86 @ A1 3@ Eae? o wehfa srar
ot Reremé & ueeg wene wd & ?

(1) 5

(2) 4

(3) 3

(4) 2
forder (0. 87 & 90)
E{q‘mmﬁﬁﬁﬁMMHm
w.87 ww=Rm

Wt 2] ?

23
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Q.89 QuestionFigures:

SRR EONBE

Q.90

SO O

1 2 3 4
How many triangles are in the
given figure ?

(1) 15

2) 16
(3) 17
4) 18

syl ?

N[O

1 2 3 4
90 # srgfy & Rropont ot woai
£ ft;m%?

./

Vs
e A

(1)
(2)
(3)
(4)
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Q.91

Q.92

PART-I (RHI)
SCHOLASTIC APTITUDE TEST

NNF awar e

Questions: 91 to 180

Physics

A body is thrown vertically
upward and rises to a height of
10m. The velocity with which the

body was thrown upward is .
(g=9.8m/s’)

(1) 10m/s
(2) 20m/s
(3) 14m/s
4) 25m/s

A and B are two objects with
masses 6 kg and 34 kg
respectively then

(1) A has more inertia then B
(2) B has more inertia then A

(3) Aand B both have same
inertia

(4) None of the object will have
inertia

n.91

7.92

Physics
& g% 3 SHElER SR P IR

10m ¥lo FATE TF B! 71| T
@1 37 71 B o a8 S &)

3R B T | (g=9.8m/s’)
(1) 10m/s

(2) 20m/s

3) 14mis

(4) 25mis

A 3R B 2} aegy § fora gamm
PHY: 6 kg AT 34kg B,

(1) A s B ¥ 3frs
2rm

(2) B &1 Wedd A ¥ IS
B

(3) A 3R B 3 &1 Wewm
HHE B

(4) T 9 f& axg &1 we
€l 8|
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Q.93

(1)
(3)

Q.94

Q.95

Q.96

In which of the following cases
will the work done be
maximum? The body is moved
through a distance S on the
ground. .

_.‘L (2) .
@ .

When air is saturated, it connot
hold

(1) morewatervapour
(2)
(3) more carbondioxide
(4) more oxygen

more air

The echo will be heard if the
original sound reflected by an
obstacle reaches our ears after

(1) 10Sec
(2) 5Sec
(3) 1Sec
(4) 0.1Sec

Choose correct relation
between u, v and R for a
spherical mirror

2uv
U+v

(1)
(2)
(3)
(4)

R=

R= u+y

2(utv)
uv

2uv
u-v

R=
R=

7.93

(1)

(3)

1.94

7.95

H.96

W4 &9 HYW 2t & | 78 T8 ™
GiCa|

(1) SUTET JAol—arg
(2) <rET &

(3) U FETSRATTATES
(4) SO TR

e qa af 5 woEe @ cga
T AR T aP Ugadl & a1 '
fre v e Wfw g 2
(1) 10Sec

(2) 5Sec

(3) 1Sec

(4) 0.1Sec

TS el edur & e uv a R ¥
HE W B

2uv
U+y

(1)
(2)
3)
(4) R

ut+v
_ 2utv)
uv

2uy
u-v

“““__

26
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Q.97

Q.98

Q.99

Q.100

Which of the following
diagrams correctly represents

the passage of ray of light
through a concave lens

(1 —}thh_,
o JA\

(3) (4)

——

F

m).l.\ mL_\FH“

What is the current I in the

circuit :

1 10 +
(1 —A .
2) 2A 1Q
@) A
(4)

Which switch in the circuit when
closed will produce short-
circuiting

1) C | Qi',
oA & (" fﬂ

@) B = [
(4)
The phenomenon of

electromagnetic induction was
discovered by

(1)
(2)
(3)
(4)

4 A

BothB&C

Lenz

Maxwell
Fleming
Faraday

.97

7.98

9.99

9.100

fEYddmfREsaaada @
o wé e & vy # weffa
YA ®

U v I v g
AR

— (4) —
e [\

(3)

F #™

we La\
o9y & 11 191 719 8

1 .
(17 A mi% th

2 2 A
10

3
B) 2 A

@ 4 A

=1 4 9 5w Rag & gm

@g-gfa dmi | ﬁ
(1) C o A {B

(3) B '
(4) BothB&C

fAya gwdia v wae A @
e Y

(1) @
(2) HFada

(3) Wafdm
(4) B

e —————————————_____________________— — — — ———————
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Q.101 Choose the source of energy 9101 Suil @ A B g o TEI |

which is different from 3 &
others (1} ]%'r;ngz
(2) Naturel gas ©
{3; Petrolium (3) Ugifera
(4) Wood (4) B
Q.102 The central region between the | %.102 gedt # Tt iR gl ot wre
crust of earth and core of earth P W B WM B
is called
1) #<d (Iqucd
(1) Mantle () PN ( )
(2) Crust (2)
(3) Core (3) wre
(4) Central Core (4) D= DS
Q103 Out of following which can be | 5 193 e § 3 2 w1 T F=are
e electronic configurati —
non-metal ? Harg =t a 27
(1) 281 - (1) 28,1
(2) 282 (2) 2,82
(3) 2,83 (3) 283
(4) 2,87 (4) 287
Q.104 Which allotrope of carbon is | gy 104 & @ #Y @1 srqvey SEed @
used as lubricant ? w9 § v fbar e % 2
(1) Coal 1) .
(2) Diamond
(3) Graphite @) SN
(4) Charcoal (3) E
(4) ARSI
Q.105 Diamond is a bad conductor of 9. 105 €1 N
electricity because- : farega @ gare & it
(1) Itishardest
(2) It does not have free () %WW% B
electrons (2) =HH PIE Yo SR T8l
(3) Itishighly stable (3) TE I e B
(4) Itshinesinthelight (4) T8 919 § g9Ha &
W
28

Scanned by CamScanner



0.106 S.l.Unitofpressureis
(1) Joule

(2)
(3)
(4)

NaOH +HCH> NaCl + ;0 is an
example of-

(1)
()
(3)
4)
The process in which oxygen

combines with an element or
compound is called

(1) Oxidation
(2) Reduction
(3) Neutralization

(4)
The number of neutrons in
hydrogen (H), deuterium (D),
and tritium (T) respectively is

(1) 1,23,
@ 1,02,
3) 01,2,
@) 321,

Zinc displaces copper from
copper sulphate solution. It
means

(1) Znis morereactive than Cu.
(2) Znis less reactive than Cu.
(3) Znand Cu are equally
reactive.

Both Zn and Cu are less
reactive.

Calorie
Pascal
Newton

Q107

Decomposition reaction
Neutralization reaction
Displacement reaction
Combination reaction

Q.108

Decomposition
Q.109

Q.110

(4)

9. 106 14 &1 S.|. 75D &

(1) S
(2) Har

(3) U
(4) e

w. 107 l;aDH +HCI—>NaCl + Hp O SETeXI
(1) smees AR
(2) SeriE Affha
(3) favengs afwfsman
(4) T AfAfe
v. 108 7€ o Rrd sifrfiom & o=
e A | WAeH F E,
HET & -
(1) SifediHo
(2) U=
(3) SERFIBRY
(4) ¥gEeH

¥. 109 FESIoA (H), SZEIRT™ (D), @
é’r&mmmﬁaﬁﬂwmﬁﬁ

(1) 1,23,
(2) 1,02,
(3) 01,2
4) 321,
9. 110 {59 3R aede Rdas ¥ s

o fRenfia o o §, 39@1 o
e
(1)
(2)
(3)
(4)

Zn, Cu ) 3t forarsfia 8 |
Zn, Cu ¥ &9 fpardfe 21
Zn 3R Cu Toax fohamsfie &

Zn3R Cu g1 8 &9
faramehiar & |

W

29
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Q.111 How many carbon atoms can be
joinedin fullerene?

(1) 6
@) 12
3) 20
4) 60

Which gas protects us on earth

Q.112
from harmful ultra-violet rays 7

(1) Nitrogen
(2) Oxygen
(3) Ozone
(4) Methane

The formula of aluminum oxide
is

(1) AIO,

Q.113

(2) AlLO,
(3) ALO,

(4) ALO,

Q114 A complete fertilizer is one

which contains three critical
elements or minerals

(1) Iron, Nitrogen, Phosphorous
(2) lron, Oxygen, Carbon

(3) Nitrogen, Phosphorous,
Potassium

(4) Nitrogen, Phoshorous, Iron

.111g-aﬂ=lﬁﬁﬁﬁmhalgg$ﬂ
: apd g ?

(1) 6
2) 12
(3) 20

7. 113 vegdifaw sifeargs o g3 @
(1) AG,
(2) ALO,
(3) ALO,

4) ALO,

n114 @ Oof 96w 7 @ i &
& o 3ya @fie 8§

(1) <&, TEEN, FRGRY
(2) e, e, B

(3) TECIN, BIREPE,
dref¥rm

(4) TESNH, BRERY, e

%

S ——
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Q{15 Growing maize with urad bean | 4.15 %I 3 ve< T AR TIHA B

and groundnut with sunflower gl 3 WM @ I
are examples of : TR0 &
(1) Crop rotation
2) Intercroping (1) Sa 98° B
(3) Crop Improvement (2) TN @
(4) Mixed Cropping (3) BHA GER @
(4) FBceaa STRT @
Q116 Bl u.116 o
: .ﬁ EFE—
The given diagram depicts a o 3 e ST 3 S
cell organelle named : & R am 2
(1) Rough Endoplasmic
Reticulum (RER) (1) & = Ao
(2) Golgi Bodies (2) TiieE
(3) Microtubules (3) TEACGTE (FAIN)
(4) Cellwall (@) I @R
Q117 Match the column 18Nl and | %117 Ru #em 13k I = faw @
choose the cormrect option: ﬂmgﬂﬂgﬁ
| Column 1 Column 2 e ——
E _ | _ i) == 795 (a) ¥&
F C-ui.rra' 1a}w === {bl=rm
? r‘m (&} Absorpeon G ©) 3w
E=EE— |
‘; Th o Enresioe Muscie
(1) (IXb).(i)a).@iXd).(v)c)

(1) (IXb).(iiXa).(@)d).(iv)Xc)
(2) (iXa).(iiXb).(i)c).(v)d)
(3) (IXd).(ii)b).(wiKa).(vXd)
(4) (IXb).(iXa).(Xc).(iv)Nd)

2) (Xa).(m)b).GXc).(vXd)
(3) (d).(END).(m)a),(vXd)
14} (IXb).(EXa).@Xc).(vXd)

Em
31
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Q.118 The famous fungus shown in a

w.118 '-ﬂ'ﬁﬁ?ﬁ’:lﬁwnﬁiamﬁ

diagram below is used to obtain e mm %
an antibiotic medicine: Qﬂlﬂﬁggﬂ ar< Z}Eﬁ 21
The name of fungus is: U PRSP AW &
(1) Marchella (2) Mucor (1) ARFES  (2) 7g&w
(3) Penicillium (4) Yeast (3) Tafem  (4) @Ak
Q.119 Which among the following | .19 = ¥ | 5wl gan war &3
have open circulatory system? U ST 2?2
() Arhropoda (i) Mollusca () e (i) S
(iii) Annelida  (iv) Cnidaria (iii) UHferer (iv) s
(1) (i)and(ii) (2) (iijand(iv) (1) (i):‘.ﬂ?{ii] (2) (ii)@l‘l?(i‘v}
(3)  (and(ii)  (4) (i)and(iv) (3)  (iRMRGi)  (4) ()R
Q.120 The given figure is of Funariaa | .120 a1 R TART-TE & &7 2
moss plant The parts W 99 @ A= W ABCD
indiacated by A,B,C,D N Y
represent, which of the B3 4 R 1 e
following structures ?
A B Cc D A
el L I
IZzolds Seta  Capsule
(3) Seta Capsuls Leaves Rhizoids gii'ﬁ?fl T‘?ﬁmﬁr ?ﬂﬂqﬁ_‘ﬁ ;Wm
(4)Capsule  Seta Rhizoids Leaves {41'*“53 e s aRd
32
e ———
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e

Q121 AIDS virus has : %121 tswaERE A e &
(1) Single Strand DNA (1) fRivTe wgg SoTHoTo
(2) Double Strand DNA (2) 9 WFS SoTHoTo
(3) Single Strand RNA (3) RivTel g ARoTHOYo

Q.122 An insect which transmits a | ¥.122 & @e ot I P RS

disease is known as: AR FEAT & :
(1) Intermediate host (1) Hemgal] AWeTE
(2) Parasite (2) TR
(3) Vector (3) AmaTED
(4) Prey (4) R
Q.123 The high energy ultraviolet 9.123 §d 4 I qEh S| Fol aren

radiations coming from sun wiT R sem @
split ozone into molecular and i 3 a H
atomic oxygen. This process is fRaftsg oz & 1 3w uism )
known as: TEd b
(1) Oxygen synthesis (1) IS Yool
(2) Ozone depletion (2) I BT e
(3) Global warming (3) af¥as aifdw
(4) Green house effect (4) M ESH w9

" Q.124 Identity the given w124 Ry dprmafs o @

~ v bilogeochemical cycle : gy

A A

L

AN

~ (1) Oxygen Cycle (2) Nitrogen Cycle (1) SIS aH {2} TGS

(3) Hytrogen Cycle (4) Carbon Cycle (3) BRI UH (4) BT U™

33
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Q.125 Two bacteria which bring about
nitrification are:

(1) Pseudomonas, Amoeba
(2) Azobacter, Anabaena
(3) Rhizobium, Amoeba

(4) Nitrobacter, Nitrocystis

Q.126 Divide the sum of - and 5- by

their difference 3

—
—
L

(2)

(3

(4)

RIS B Ry Ne

Q.127 Present ages of Teenu and

Meenu are in the ratio 2:3. Four
years from now the ratio of their
ages will be 6:7. Find their
presentages.

(1) 20year, 30year
(2) 12year, 13year
(3) 6year Byear
(4) 2year, 3year
Q.128 A quadrilateral has their four

angle in the ratio 4:3:6:5 find the
value of largest angle of them.

(1) 120°
(2) 100°
(3) 80°
(4) 60°

125 a’lﬁ\wgﬁﬁﬂn'ﬁmﬁ
! N g s

(1) g™, 3

(2) USTeaeR, AAE

(3) Eunfagd,

(4) TTERTER, TR
H.126 —g-sl'l'\t %ﬁmﬂaﬂmmﬂ

Ciok- 2|

(1)

(2)

-

3
7
-7
2
-7

) 23

23
12

%127 & 3R A A wwm g
I 23N MV 474 B g
T A B IGIE 67 B
ST | ST AT Ty amel |
(1) 209, 30 ad
(2) 12a4, 13 o
(3) 6ad, 6 af
(4) 2, 3 af

¥. 128 T& ugyw @ 9R) Pl o JJI0
4:3:6:5 2| TUD WAQ T3 TV B
A A3
(1) 120°
(2) 100°
(3) 80°
(4) 60°

(4)

e ——————ee—————
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Qi

Q130

Q.1

Q132

ABCD is a rectangle. AC and BD
are it's diagonals. They intersect
each other at O. If OA=S5¢cm and
AB=8cm find the length of the
side BC

(1
(2) 8cm
(3) &em
(4)

10cm

12cm

In 4 years 7200 two whealers are
produced by a company,
represented by the angles of the
given circle. Find the maximum
number of vehicle obtained in 1
year,

(1) 2000

@ 1200 ﬁh

@) 1600 N[N/

@) 2400

Find the least number by which

3872 be divided to obtain a
perfect square Find the square
root of the number obtained

(1) 2,42

(2) 8,22

(3) 4,44

(4) 2,44

A pen was sold for Y323 after
allowing a discount of 15% on

the marked price Find the
marked price of the pen.

(1) 308
(2) 338
(3) 350
(4) 380

".130

LRKY

n.132

129 ABCD Tw ymum R) AC 3w BD

IR fwof & o 5 qeeaw 0 W
TR R IR OA=Scm oiiw
AB=Bcm R | ™ yon BC o wwmy

i |

(1) 10cm

(2) 8cm

(3) 6cm

(4) 12cm

Ta ¥ Twiv MU Wl @ SR W
T WUt I 4 Tl § g 7200
WWWWIW1!1
T it s e @

(1) 2000

(2) 1200 ﬂh

(3) 1600 q"'g

(4) 2400

o W O W wash e

3872 ® WM HW W of wf ww
Yl W Wew W wiw f
w3

(1) 242

(2) 822

(3) 4.44

(4) 2,44

T ¥ B IR T W 15% g
2 X 323 N e W) YW oW
Sifdsa s wawa |

(1)
(2)
(3)
(4)

308

338
350
380
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Q.133

Q.134

Q.135

Q.136

Find the volume of wood used to
make a closed box of outer
dimension 60cm x 45cm x 32cm.
The thickness of wood being
2.5cm all around

(1) 86400cm’

(2) 59400cm’

(3) 27000cm’

(4) 145800cm’

Find the number of side of a
regular polygon whose each
interior angle is measured 160°

(1) 6
2 9
(3) 12

(4) 18

Find the cost (In Rs.) of fancing
of a wire along the boundary of
a square field of area 5625m’ If
wire cost T 40 per meter.

(1) 12000

(2) 6000

(3) 3600

(4) 3000

Find the least number by which
27648 must be multiplied so that
the product is a perfect cube.
Also write the perfect cube so
obtained.

(1) 2,55296
(2) 4,110592
(3) 3,82944
(4) 5, 138440

W.134

".135

. 133 U& 4% q@d B qaed RfAEd soc

x 45cm x 32cm ®1 e wwdt o

I IR ¥ 2.5cm #eE @ @

e T A R awd wyem

4

(1) 86400cm’
(2) 59400cm’
(3) 27000cm’
(4) 145800cm’

F WHAEYS B Tl sma o
fora®1 a9l =1 H1 160°
9T T R

(1) 6

(2) 9
(3) 12
(4) 18

T PR VT B STABA 5625
a1t diex &1 40 & 9 Fex 3 =
A 39 TR AR N N o @i
(% #) e @m 2

(1) 12000

(2) 6000

(3) 3600

(4) 3000

.|
9. 136 7% BId} | V1) v o w9 O

27648 3 N A W Pf g9 F
W | §9 HSR wrw gof a9 WS
a1 Bt

(1)
(2)
(3)
(4)

2,55296
4,110592
3,82944
5, 138440

e —— I
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g.137 In the given figure the sum of all

_ ¥. 137 agfa @ wfl o= o FT AN
the interior angle is equal. to N

right angles Then find the value ¥, TN T A E
ofN c ;

(1) 20 (1) 20

2) 18 (2) 18

(3) 16 (3) 16

@ 24 | @ 24 *

Q138 Os the centre of the given %.138 vz Ry v 7@ =1 3= O R
circle Find the value of angle X 01 x B AR w@I |
3 0
(3) 135 (2) 120

(3) 135
(4) 150 @ 150
Q139 If2x +i= 15 Then 4x' +%, is | ¥.139 ﬂﬁh*rﬁ- 15a 4!’*-#, L)

equalto ? HIE 491 8 7
(1) 225 (1) 225
(2) 224 ) 224
(3) 223 (3) 223
(4) 220 (4) 220

Q140 A rectangular piece of paper

¥. 140 U Jga@R BT et wgw
44cm x 12cm is folded to make a

cylinder of height 12cm. Find
the volume of cylinder (Assume
there is no over lappish of
paper)

(1) 1260cm’
(2) 5280cm’
(3) 1590cm’
(4) 1848cm’

44cm x 12cm 2| TN AETR(PIe
@) 12cm SUE T THR B
TR W T ¥ AGT )

A o1 B | (Tl B v
TN & FR 78 791 7))

(1) 1260cm’

(2) 5280cm’
(3) 1590cm’
(4) 1848cm’

—_—
ore—
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Q.141 A sewing machine for Rs. 3780
inclusive of 8% vat. What was
the price of the machine before
vat added?

(1) 3780

(2) 4082.40

(3) 3478

(4) 3500

Find the area of a rhombus in

which each side is equal to 10cm
and one of it's diagonal is 16cm.

(1) 80cm’
(2) 96cm’
(3) 120cm®
(4) 160cm’

Q.142

Q.143 Factorise 5-2x-6xy+15y

(1) (2x-5)(3y-1)
(2)  (5-2x)(1+3y)
(3) (2x+1)(3y-5)
(4) (5+3y)(2x-1)

Q.144 Find the value of n if

(I)"'x(-7)’=(-7)’

(1) 0

) 1

(3) 2
7

(4)

v g T ot e sy
I TMHI 3780 T El T T
ged Wi 9t Fa e A ?

(1) 3780

(2) 4082.40

(3) 3478

(4) 3500

TS HHATg g4 1 TS ot 10

Hotlo IR TF Awvf 16900 2
o s S=rwa e 8

(1) 80cm?
(2) 96cm’
(3) 120cm’
(4) 160cm?

H.141

H.142

H.143 5-2x-6xy+15y @1 TorTEvs T

(1) (2x-5)(3y-1)
(2)  (5-2x)(1+3y)
(3)  (2x+1)(3y-5)

(4)  (5+3y)(2x-1)
N.144 n &1 W 9 o0 ol
CI"x(-7y=(-7)

(1) 0
(2) 1

3 2
@4 7
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Qs

. Q146

Q147

Q148

rE—

T e

A

I:thn.di“
divisible by g g T0®F IS 24p ;
mnof:“""“ﬁ“dﬂu N

1 1
@ 2
@) 3

4) 4

(1)

3)
(4)

Lord Wilkam Bentinck

H.148

147

W48 T
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Q148

Q150

Q151

Q152

Q153

Where first cotton mill was set
up in india?

(1) Ahmedabad

(2) Bombay/Mumbai

(3) Surat

(4) Altahabad

When the English Education
Act was introduced ?

(1) 1864

(2) 1840

(3) 1835

(4) 1839

Who founded Arya Samaj in
18757

(1) Swami Dayanand - -,

(2) Swami Vivekanand

(3) Raja Ram Mohan Roy

(4) H‘WMW
When was the capital of British
india shifted from Caicutta to
Dethi ?

1858

1907

1914
1911

(1)
(2)
(3)
(4)

The famous artist :
“"mbduwtnﬁ::u:;
(1) West Bengai

(2) Maharashtra

(3) Kerala

(4) Uttar Pradesh

0.149

u.150

0151

w152

n.153

wrea # vl g T B oy
g S E?

{1) FEFeER

(2) ¥=%/T=%

@) T

(4) STEER

i e afRREm =1

& wm 2 =
(1) 1864

(2) 1840

(3) 1835

(4) 1839

|1 1875 ¥ IH T & v
A2

(1) == aF=<

(2) == RSsm=

(3) = WEER I

4) T¥ax Raarw

e =d e & i =@

Foedl 4 Rl =1 w=rals
a1 2

(1) 1858
(2) 1907
(3) 1914
(4) 1911

W e v R = =
T Ruaraam?

(1) Remamw
(2) "Emrg
) IF=

4) SR-mwdy

e

e —
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Q.156

Q.157

Q.158

{ was the immediate cause

W the revoltof 1857 7

Use of new machines

Use of fat coated cartridges
Ban on Sati Pratha

High taxes on landlords

(1)
(2)
(3)
(4)
pandi March is related to which
movement of Mahatma Gandhi ?

(1) Non Cooperation
Movement
(2)

Civil Disobedience
Movement

(3) Champaran Satyagrah

(4) Quitindia Movement

Who was the chairman of the

draft committee of the

constitution ?

(1)

(2)

Dr. Rajendra Prashad
Pt. Jawaharlal Nehru
(3) Potti Sriramulu

(4) Dr. B.R. Ambedkar

On what basis Indian states
were reorganized in1956 ?

(1)
(2)

Language
Population
(3) Wealth

(4) Natural Resources

We divide th
basis of the

(1)
(2)
(3)
(4)

@ resources on the
distribution as

Skill based and transferable
National & Subsistence

Ubiquitous ang localized

Sustainable g

nd
resources actual

k

41

9.154 1857 B Wi P AcHIerD PRI
1 A1 ?
(1) 1S 7= &1 9aT
(2) =l are HRYH
(3) HA—we R ufrEy
(4) TR TR 3F TR BT 4T
W.155 S& AT B WaY HEw Il B
a9 g ?
(1) JAHEINT A=A
(2) Wfd=a @ IR
(3) TURA HATUE
(4) WRA BT AT=_TeA

9.156 WRuYH W & urey afRf @
I PAY ?
(1) Tlo Y= WIS
(2) Yo WATEATH AE®

(3) e ARy
(4) STo o 3Ro IFTTF
HA57 W9 1956 ¥ W wrowi
S*Bﬂﬁmmwﬁmm:“
(1) S
(2) wFEEm
() &=
(4) wsfos dane

mﬂﬂﬂ?ﬁmmmm
wEe ® ?

(1) mamm
(2) mﬂifa?ﬁaqﬁ'laf/aa i
(3) W v verrie

(4) Wﬁmﬁ]ﬁ
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Q.159

Q.160

Q.161

Q.162

Technology mean
(1) Use of damaged resources

(2) To do or make something
skillfully

Which leads to sustainable
development

Ability to renew with ulilized
resources

(3)
(4)

Which climate factors are
responsible for soll formation 7

(1)
(2)

Temp and Rainfall

Typical species of
animals

(3) Paslures and temperature

(4)
Poaching Is related with

(1)
(2)

Rainfall and humidity

Planting of trees.

Discharged parlicles of
fumes
(3) Stealing of animals

(4) Technique of capluring rain

waler for fulure use

Wainganga rises from the
(1)
(2)
(3)
(4)

Vindhyachal range
Champaron
Mahadeo hill

Maikal range

n.150

H.160

H.161

n.162

M @ T f 2
(1) afenrea wwmEl @1 g

(2) @o fgua & Y

(3) verf &M N WS o ren
g

(4) wwum fay  wEEA @
qeoTfde @ @) &l

fred) & 133 @ g o= | Aol
oe Juverd k ?

(1) gHr 3R g

(2) W @ Rftre gonfom
(3) URIE A AT

(4) aut a ymeken

t e P & @} s @
wufir &7

(1) tharyo

(2) qua 913 gu v

(3) WraR! & R @

(4) s & suam & fog afte
® At @B gaca @ A
Adas

M 9Ty /9o e A @
o A W &

(1) Remaa gda sof

(2) wuRw

(3) WErRyuda

(4) Awra gda Aoh

mz
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.h.-.

ich of the following in India is
01 qatural gaspipeline
(1) East-West Pipeline
@) Kandla - Bhatinda oil Pipeline
(3) Bhabhuti Mumbai - Manmad
Pipeline
4) Babhoti- Tumkur Pipeline

scrub lands are generally found
in Indiainthe state of

(1) Karnataka and Telangana
(2) Maharashtraand Orissa
(3) Orissaand Jharkhand

(4) Kamatakaand Jhankhand

164

Van - Mahotsava movement was
initiated by Dr. KM. Munshi in
the year

(1) 1946
(2) 1976
(3) 1950
(4) 1948

Q.165

Q166 Living irrigation of canals helps

in

(1) Toavoid seepage of water
(2) Soiltexture

(3) Terrace cultivation/farming
(4) Contour ploughing

Q167 Silicon valley, the famous place

is located in which continent
(1) Asia

(2) North America

(3) South America

(4) Europe

9.163 fr= A A wwa  wgfow e B

9.164

H.165

u.166

9.167

UIZYATEA P14 G

(1) udi afEed 5 oguenE-

2) Higen — dafeel de TEIeE

(3) qu%lgjas‘—-mmmgmzﬂ
(MMBPL)

(4) 1948

T A R H wWaLIRR
Ryard = 3 A e ol 4 72T
T B

(1) i @ Rema 794 @ forg
(2) 1w/

(3) WEER Wil

(4) Hre A

e ot A= &4 4 .
TRy fReag?

(1) TRmm

(2) ST PRSI

(3) <Rl sERen

4) T

W
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Q.168 Which industry is called Sunrise
Industry

(1) Cotton Textile Industry
(2) Iron And Steel
(3) Information Technology
(4) Jute Industry
Q.169 Agriculture has become more

irmen::haniznd due to discovery
n

(1) Computer application and
factory farming

(2) Sustainable farming and
production engineering

(3) Genetic engineering and
factory farming

(4) Mettalurgical and genetic
engineering

Q.170 How many persons formed the
constituent Assembly ?

(1) Agroup of 150 People
(2) Agroup of 200 People
(3) Agroup of 250 People
(4) Agroup of 300 People

Q.171 What should we do when we see
some one violating the law ?

(1)  Inform the police

(2) Ignore the situation
(3) Fill a case in the court
(4) Arrest the accused

H.169

9.170

0171

wWRym wn &1 e wewl 3
et & o= v 2

(1) 150 =i & g 7
(2) 200 &t & WY
(3) 250 i & wHE A
(4) 300 &7 & WE A

v w9 f&f B B 1 IeerT
FW AW @ o T an

arfey ?

(1) gfera & gamn 2=

(2) Refd o) s s

(3) 3rETerd 3§ YT Tut HRAH!
(4) IRER B gHe |

%
44
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j ol whsndmgs of Lok Sabha?

How many National Political

017 Carties are there is current Lok

Q{74 First General Election to Lok
Sabha held in which year?

(1) 1948-1949
(2) 1947-1948
(3) 1951-1952
(4) 1952-1953
Q175 Which poisonous gas was
released in Bhopal gas tragedy?
(1) Methane
(2) Methyl - Isocyanate
(3) Carbon mono - Oxide
(4) Methyal Bromite

Q176 Which aricle of Indian
Constitution is Right to life ?

(1) Article 14
(2) Article 19
(3) Article 21
(4) Article 25

w172 AFEW 3 sAAE B
A E?

(1) Iz
(2) Tt
(3)
(4) WEFHA
9473 TEE dieen A T
TeHRe TAE ?
(1) 5
2) 6
@) 7
4) 8
9174 S @ fo s 3w g 9
A2
(1) 1948-1949
(2) 1947 - 1948
3) 1951 - 1952
(4) 1952-1953

w475 Wrare W AEd A3 A
Sl gd &t ?
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Q77

Q. 178

Q179

Q180

The highest law making body of
Coumry consisting of Lok Sabha
and Rajyn Babha is known s -«
(1) Miggh Censnt

(2)  Gugpnosries Conpt

(3)  Pariarmen

(4)  Prosutem

A Person Who doss not Lake

adequats nutrition or food s
known as -

(1) Malnourished

(2} Newrished

(3 Well nensrishin

(4) Al oA these
Which term is used for

requirement of food, water,
shelter, sanitation, healthcars

uAT?

uATE

w79

91e0

AW A T ey ¥ Dl py
B it gt DR dewy
o) wen v

10

e gt g

S F A

(h) rHzfH

am o W e e 7y
Grxn o o e ¥

(1) aainn

(2, rfus

e

%
T

wen Wy e Sl soxk
A W Fom v % v ek
Ry, o0 m e

(1) f"."&#ﬂ'@ '%g

(2) wran mad

3y wrrER f

(&) Zalims veb

w7 oo ow e &
=7

4 ) m
2 zn%
% Z57
4 Zxe
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